

BID BULLETIN 01

Date: 22 August 2022

Project Title: Supply and Delivery of Construction and Electrical Supplies (GOODS-

22-43)

Location: VSU Main, Visca, Baybay City, Leyte

Bidders are hereby informed/reminded of the following addendums/amendments/clarifications:

I. LIST OF REQUIREMENTS

PhilGEPS Certificate of Registration (Platinum)
or
a. Registration Certificate (SEC, DTI or CDA)
b. Mayor's/Business Permit
c. Tax Clearance
Statement of All On-Going Government & Private Contracts
Statement of Bidder's Single Largest Completed Contract (at least 25% of the ABC or Php 275,283.75 .
Or
Statement of at least two (2) similar completed contracts w/ total amount of at least Php 275,283.75 and the largest of which should be at least PhP 137,641.88
Bid Security
Technical Specifications
SCHEDULE of Requirements/Production and delivery schedule
Manpower Requirements
After Sales service/parts from acceptance of delivered goods (at least 1 year for equipment and 3 months for supplies)
Original Duly Signed Omnibus Sworn Statement
The Supplier's Audited Financial Statements
Net Financial Contracting Capacity (at least Php 1,101,135.00)
Or
Committed Line of Credit (at least Php 110,113.50)
L COMPONENT ENVELOPE
Original of duly signed and accomplished Financial Bid Form



Please take note:

- 1. In the **Technical Specifications**, bidders must state either "Comply" or "Not Comply" <u>against each of the individual parameters of the specifications</u> per item stating the corresponding performance parameter of the equipment offered. Statements of "Comply" or "Not Comply" must be supported by evidence in the **Bidders Bid** and cross-referenced to that evidence. Evidence shall be in the form of manufacturer's un-amended sales literature (Data Sheets), unconditional statements of specification and compliance issued by the manufacturer, samples, independent test data, and Brand and Model as appropriate. A statement that is not supported by evidence or is subsequently found to be contradicted by the evidence presented will render the Bid under evaluation liable for rejection. A statement either in the Bidders statement of compliance or the supporting evidence that is found to be false either during Bid evaluation, post-qualification or the execution of the Contract may be regarded as fraudulent and render the Bidder or supplier liable for prosecution subject to the provisions of ITB Clause 3.1(a)(ii) and/or GCC Clause 2.1 (a)(ii).
- 2. Bidders are advised to use the latest GPPB forms for the following documents:
 - a) Omnibus Sworn Statement
 - b) Performance Securing Declaration (if applicable)
 - c) Price Schedule for Goods Offered
 - d) Bid Form
 - e) Bid Securing Declaration

These forms can be accessed from the GPPB website: https://www.gppb.gov.ph/downloadables.php. Documents that are not in its updated/latest format shall be a ground for disqualification of the bidder.

- II. Preparation of Electronic Bid (for bidders who prefer electronic bid submission)
 - 1. Scan per document into Portable Document Format (PDF) and should be printable.
 - 2. Properly label all scanned documents for prompt identification. Filename of documents, whichever are applicable to the bidder, should be as follows:

	Document	Filename (in PDF form)
1.	PhilGEPS Certificate of Registration	PhilGEPS
	(Platinum)	
2.	Registration Certificate (SEC/DTI)	Registration Certificate
3.	Mayor's/Business Permit	Mayor's-Business Permit
4.	Tax Clearance	Tax Clearance
5.	Statement of On-Going Government	Statement of On-Going
	& Private Contracts	Contracts
6.	Statement of Bidder's Single Largest	SLCC
	Completed Contract	
7.	Statement of at least two (2) similar	Statement of Completed
	completed contracts	Contracts
8.	Bid Security	Bid Security
9.	Technical Specifications	Technical Specifications
10.	SCHEDULE of	Schedule of Requirements
	Requirements/Production and	
	delivery schedule	
11.	Manpower Requirements	Manpower Requirements
12.	After Sales service/parts	After Sales



13. Omnibus Sworn Statement	Omnibus Sworn Statement
14. Audited Financial Statements	Audited Financial Statements
15. Net Financial Contracting Capacity	NFCC
16. Committed Line of Credit	CLC
17. Bid Form	Bid Form
18. Price Schedule	Price Schedule

3. Create two (2) folders that are password-protected. The first folder should contain all requirements under Technical Component checklist as presented under Section VIII.

The second folder should contain all requirements under Financial Component checklist.

- 4. Compress the two (2) folders and name as follows: a) first folder: **Technical Documents**, b) second folder: **Financial Documents**.
- 5. Email the 2 compressed folders to Ms. Jessamine C. Ecleo at <u>jessamine.ecleo@vsu.edu.ph</u> before the deadline.

III. Changes in the Bidding Documents

Original

Section I. Invitation to Bid (Amendment) 5. A complete set of Bidding 5. A complete

5. A complete set of Bidding Documents may be acquired by interested Bidders on 01 August – 02 September 2022 until 8:30 AM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Thousand Pesos (PhP 5,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means.

5. A complete set of Bidding Documents may be acquired by interested Bidders on 01 August – 02 September 2022 until 8:30 AM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Thousand Pesos (PhP 5,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means:

The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means.

The Bidders may deposit the payment for the bidding documents to the Visayas State University Landbank Account with the following details:

Account Name: Visayas State University Fund

164

Account Number: 3572-1000-13

Then send the deposit slip to jessamine.ecleo@vsu.edu.ph



Section II. Instructions to Bidders

15. Sealing and Marking of Bids

(Additional Instructions)

Bidders are requested to submit three (3) copies of its bid – 1 Original, Copy 1, and Copy 2.

For filing purposes, the bidders are urged to use **Light Blue** envelopes for its Technical and Financial Component envelopes, including the Mother (outer) Envelope.

IV. Revised List of Goods and Technical Specifications

- Some Specifications were added (in red font) and/or deleted (in blue font)
- Some Quantities and Unit Prices (ABC) were changed

Item No.	Description	Unit	Qty	ABC/Unit (Pesos)	Total ABC (Pesos)
1	Automatic Emergency Light LED	unit	2	1,900.00	3,800.00
2	Electrical Circuit Breaker, 30 amp (Plug-in)	рс	3	650.00	1,950.00
3	Electrical Conduit, (PVC) Orange, 1/2" x 10'	length	15	120.00	1,800.00
4	Electrical Outlet, Convenience 2 gang with ground, (Flush type)	set	10	350.00	3,500.00
5	Electrical PVC Clip, 20mm/ 1/2" diameter	рс	200	5.00	1,000.00
6	Electrical Tape, Vinyl	rolls	5	75.00	375.00
	■Flame retardant and compatible with plastic cable and wire harness insulations				
	■Flexible PVC with aggressive rubber adhesive				
	■Primary electrical insulation for all wire and cable splices rated up to 600 volts.				
	■19mm x 16m x 0.155mm				
	■Heavy Duty				
	■ASTM approved				
7	Electrical Wire, THHN / THWN, AWG 10 (5.5mm2), Stranded, 150 meters/box	boxes	1	7,000.00	7,000.00
	■Building Wire				
	■Stranded with Nylon Insulation	-			
	■ Gauge 10				
	■ UL listed				
8	Electrical Wire, THHN / THWN, AWG 10 (5.5mm2), Stranded, 150 meters/box	boxes	2	7,000.00	14,000.00
	■Building Wire				



			•		
	■Stranded with Nylon Insulation				
	■ Gauge 10				
	■ UL listed				
9	Electrical Wire, THHN / THWN, AWG 12 (3.5mm2), Stranded, 150 meters/box	boxes	1	6,000.00	6,000.00
	■ Building Wire				
	■Stranded with Nylon Insulation				
	■ Gauge 12				
	■ UL listed				
10	Electrical Wire, THHN/THWN, AWG 4(22mm2), Stranded	meters	220	200.00	44,000.00
11	Electrical, Junction Box (Octagonal) with cover, PVC	pcs	10	45.00	450.00
12	Electrical, Pipe, (PVC) Orange, 3/4"(25mm) x 3m	length	30	160.00	4,800.00
	Sched 40, Durable, Good Quality				
13	Electrical, Utility Box, 2" x 4"(Surface Type)	pcs	35	35.00	1,225.00
14	Extension wire with 4 gang Universal Convenience Outlet, at least 10m long	рс	1	500.00	500.00
	at least 10 amperes wire capacity				
15	Grass cutter	рс	5	14,999.00	74,995.00
	Ergonomically designed easy-grip bike handle and comes with added protection in the form of safety goggles and a single operator harness				
	4-Stroke engines deliver power, performance and reliability that no 2-Stroke can match				
	Comfortable to use solid drive shaft with unique anti-vibration engine mount				
16	Insulation Adhesive Electrical Tape, 30mm	roll	5	200.00	1,000.00
17	LED Bulb, 13 watts, 87% Energy Saving	pcs	70	250.00	17,500.00
18	LED Candle Bulb	pcs	100	150.00	15,000.00
	Up to 85% energy savings				
	Wattage : 4 Watts				
	Luminous Flux: 270 lm				
	Light Source: LED Filament Type				
	Color Temperature: 2700 - 3500 K Warm White				
	Material: Frosted Glass				
	PC Cover: Frosted				
	Bulb Holder: E14				
	Beam Angle: 220 Degrees Working Voltage: AC 220-240V; 50/60Hz				
		l	1		



	<u> </u>			T	1
19	LED High Mast Flood Lights 600 watts Daylight	set	20	35,000.00	700,000.00
	LED High Mast Flood Light 600 watts Daylight				
	Luminous Flux: 84000 lm				
	Driver: Meanwell Driver				
	Color Temperature: 5500-6500 K/Daylight				
	Input Voltage: AC 95-305V 50/60 Hz				
	Material: aluminum Housing + Acrylic Cover				
	Beam angle: 140 Degrees				
	Lifetime: > 50,000 hours				
	IP Rating: IP 65 outdoor (Water Resistant, Good for outdoor use)				
20	Louver housing (Surface mount) 12"x 48" with T8 tube lights (2 x 40)	sets	3	900.00	2,700.00
	T8 Tube Lights, 2x40 louver housing, Surface type mount 12"x 48"				
21	Paint, Flat wall Enamel, White	gallon	10	750.00	7,500.00
	Premium Quality Paint				
22	Paint, Roof, Baguio Green	gallon	50	800.00	40,000.00
	Premium Quality Paint				
23	Panel Board Dead Front 2 Poles, copper, plug-in type	set	1	15,000.00	15,000.00
	6 holes with 70 amps side main 2 pole				
	3 pcs 30 amps 2 pole				
	2 pcs 20 amps 2 pole				
24	Tapping Screw Black 1", box of 50's	box	100	50.00	5,000.00
	Rebidding (from GOODS-22-36)			\Box	
25	Paint, QDE, Light Gray	gallons	3	800.00	2,400.00
	light gray color				, -
26	Paint, Semi-Gloss Latex, Traffic Yellow, Good Quality	gallons	12	1,200.00	14,400.00



27	Rainboots, Size: 11 (Men), Black	pair	3	450.00	1,350.00
	Hi-cut, Seamless injection for good waterproofing, Premium Quality				
28	Raincoat, Jacket and Pants, Large, Blue	pair	4	600.00	2,400.00
	Heavy Duty, Good Quality				
29	Raincoat, Poncho Type, Medium, Brown	piece	1	500.00	500.00
	Heavy Duty, Good Quality				
30	Electrical, Duplex Convenience Outlet (GFCI)	pcs	2	1,320.00	2,640.00
31	Flat Bar, 50mm (3mm thick) x 6m	pcs	50	1,320.00	66,000.00
32	Heat Detector Alarm System	unit	1	600.00	600.00
	Two wires conventional 24V DC				
	Operating Voltage: 9V to 35V DC				
	Alarm Current: 40 -50mA				
	Alarm Indication: Red LED ON				
	Temperature Range: -10C to +50C				
	Standby Current: 50uA				
	Humidity range: <95% Relative Humidity				
	Detecting Range: 50 sq. m @ 6-12 m installation height				
	Standard/Certification: EN54-5, UL521, GB4716-2005				
	Dimension: 100mm diameter x 46mm height				
33	Louver Housing with LED Flourescent Lamp (2 x 36W), Surface Type	set	2	1,200.00	2,400.00
34	Screened Sand	cu.m	18	1,500.00	27,000.00
35	Tubular Bar, 75mm x 50mm x 6m (1.5mm thick)	pcs	8	1,500.00	12,000.00
				TOTAL:	1,101,135.00

DILBERTO O. FERRAREN

BAC Chairman